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A. Only 3 is redundant S Qe.ns\ﬂf\:
B. Only 1 is redundant ")

C. Only 2 is redundant Vot
D. Both 2 and 3 are redundant
E. None of these



A to F are sitting around the circular table. Three of them are facing the centerANho Sits second to the left of
1N
Cis Z | 320 \1.¢
sits to the immediate right of D, who faces the cenfer. C sits the immediate right of B. E sits
immediate left of F. C and B faces the same direction.
@F sits to the immediate right of E. E and F face the center. Two wo person sit between C and F. A sits second to
p——

e right of C. D, who faces opp05|te direction as C sits next to O A. & “
@Two person sit between A and B. E sits immediate left of F. F does not sit next to B. C sits second to the

—

left of E. D and E face same direction. D faces the center. ¥ D —

A. gnly 3 is redundant
~Only 1 is redundant '

C. Only 2 is redundant .
D. Both 1 and 3 are redundant v
E. None of these
C F




A to F are sitting around the circular table. Three of them are facing the center. Who sits second to the left of
c?

1. C sits to the immediate right of D, who faces the center. C sits to the immediate right of B. E sits
immediate left of F. C and B faces the same direction.

2. F sits to the immediate right of E. E and F face the center. Two person sit between C and F. A sits second to
the right of C. D, who faces opposite direction as C sits next to A.

3. Two person sit between A and B. E sits immediate left of F. F does not sit next to B. C sits second to the
left of E. D and E face same direction. D faces the center.
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Only 3 is redundant
Only 1 is redundant (\)o\\S{
Only 2 is redundant

. Both 2 and 3 are redundant

None of these
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A to H are sitting around a square table facing the center. Four of them sit at the corner and four of them sit
at the middle of the four sides.FH/ow many person sit between F and H, when counted to the right of H ?

C sits third to the right of G. H and D sits immediate right and immediate left of C respectively. F sits third

to the right of D. A sits second to the right of E, who does not sit at corner.

@ A sits immediate left of D, who sits at corner. H sits third to the right of A. B sits second to the right of H. F

sits second to the left of E, who sits second to the left of A.

@ B sits third to the left of A, who does notsit gt corner. Three person sit between A and F. H.sits second to

the right of D. X XK —kF/H D e F Y g = @‘(/

%nly 3 is redundant
B. Only 1 is redundant
C. Only 2 is redundant

! Q) \ i\
D. Both 2 and 3 are redundant G > / \ D |
E. None of these -~ P A
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A. Only 1 is sufficient
Only 2 is sufficient dz SCMU\S\\OJC
Either 1 or 2 is sufficient (l)oqg(

. None is sufficient
Both are required
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P to V live in a seven storey building. The ground floor is numbered 1. Who lives just above V.
Q lives just below T, who lives on th|rd floor. Two person live between Q and R. S lives two

floors above R. V V lives above P and U. v
2. U lives on fourth floor. Two person live between U and P, who lives just below Q. V lives

three floors above T.

%Only 1is su—fﬁéient @ > | S %‘ «S\Ré %__ B
v

B. Only 2 is sufficient
R RIS

C. Either 1 or 2 is sufficient
D. None is sufficient
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E. Both are required
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to G has different height. Who is the second shortest person ?
D is taller than C and E. G is the tallest. Three persons are taller than E. F is taller than B an(?%.

. E is the fourth shortest person. Only G and D are taller than C. F is taller than Bfﬁ)
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. Only 1 is sufficient @ G D C> E>E @ ﬂg
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B. Only 2 is sufficient . S>S=ZD>

C. Either 1 or 2 is sufficient C (E -
&7 None is sufficient \7Y =>B 6

E. Both are required l-> D>C e ’);/,_
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Which of the following conclusion does not follow ?
Statements: - ﬂ\\ 9 Qs K

All mango are kiwi el T’\es'uw\ m % P
.lelaregng_e @ e No R is
&e‘banana ate kiwi é"—"‘ Scwoll badk 'D_T

NO papaya is banana ,

Conclusions: v
_ESome papaya can be kiwi Toue

1. Some mango can be papaya \va&
-t C— . .

1ll. Some banana are not kiwi“Txu&
IV. Some apple are not mango Al

-




?mﬁ@aﬁﬁaﬁamﬁw&waﬁm
?

i‘s’ GRS o

hael HS s el ¢
O gize 32 &

IGACIR

.S e arge 8T &
1. FT s el G Hebd
mmﬁa’fé:vﬂa@ﬁ

IV, ch@» d1sc o] AT &

g
T GHTIAT 6T g




@hich of the following conclusion does not follow ? - Does Not §ollod
Statements: De8. Fl¢e

No red is blue

lOnIy)r_e_d are green
Ny _a few blue are yellow

Some white are red

—_— *
Conclusions: No) O 16 l".)L\}\!\_/j
(1)No green is white (5% ~ D

AII blue can be yellow 'Deg:__/%\sb
(]1} Some yellow being green is not zuoossibility-F‘“e-

. Some white are not blue Tyue
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A $ B means A is north of B ASBHI 3T § ABFH IR H ¢

A % B means B is in west of A A%BHWHﬁ%B,Aa;qmﬁ%
A # B means A is in east of B A # Bhl Hﬁ%‘A,BQF%Tﬁ?
A N B means B is in south of A AABWHQE%B,AQFE‘%?TUTJ#%

Two different trucks 1 and 2 are given which visited different points when moving to their respective
destinations:

&l 3TET-379T goh 1 3R 2 fU 1w § S 319=-319a) aidedl W Sd A fAffe S w o
Truck 1: Qis 12m#P, Ris 17mSQ, R is 6m%S, T is 4mSS, U is 13m%T, U is 5mAV,

Truck 2: P is 6mAW, X is 12m%W, X is 7mAY, Z is 9m#Y, O is 11mSZ, N is 5Sm#O.




Q. What is the direction of N with respectto T ?
A. North east

£~ South east
C. North west g
D. South west

E. None of these

Q. What is the shortest distance between Y and R ? 30"”]

Q. What is the shortest distance between Vand N ? ‘! 3:],3 )




A $ B means A is north of B
means B is in west of A Ry
A#BmeansAisineastof B —

A A B means B is in south of A Rev
- -

Two different trucks 1 and 2 are given which visited different points when moving to their respective destinations:
Truck 1: Q is 12m#P, Ris 17m$Q, R is 6m%S, T is 4m$S, U is 13m%T, U is 5mAV.
Truck 2:3 is 6m~ W, X is 12m%W, X is 7m/Y, Z is 9m#Y, O is llmS_Z, N is_SLnEO.




P * Q means P is neither greater than nor less than Q.
P~ Q means P s neither less than nor equal to Q.

P % Q means P is neither g greater than nor equal to Q.

P % Q means P is not _less than Q.
P#QmeansPis not greater than Q.
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Statements: S
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Conclusions: &
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A. Onlyland Il follow
Only I and Il follow
Only | follows

Only Il follows
None follow

C.
D.
E.
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P * Q means P is neither greater than nor lessthanQ. P * QT g ra@aarssrgdiRa &

P A~ Q means P s neither less than nor equal to Q. oIeT|
P % Q means P is neither greater than nor equaltoQ. P " Q%I JYE P QO FH IR A & R
P $ Q means P is not less than Q. P%QE g rpQaadrssrg iR aT &
P # Q means P is not greater than Q. ST .
a g é PSwa:;r%ﬁsP,Qﬁwaﬁ’rgl
: P#QaT 3T g & P QU 27 TET &l
Statements: > @——___5 n ‘
%X,E_{t_Z#TM’\L"C"S YHO%F*S -,
= \*>=
Conclu5|ons n-=->"> —7 -
. ESM ,
I TAvZE >\/ /s >N
. M$y X 3 S >
A. Onlyland Il follow \:’E’-bs

B Only I and Il follow
Only | follows

jVOnIy Il follows

E. None follow
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In the given question, two columns are given that column | has three sets of statements while column Il has
three sets of conclusions. You have to assume the _given statement to be_true even if they seem to be at
variance from commonly known facts. Match the conclusions 4, 5, 6 which will| logically follow the statement
1, 2 and 3 disregarding the commonly known facts.

A statement is said to be followed if both the conclusions given against the statement 4, 5 and 6 are true

according to the statements 1, 2 and 3.
Column I ve -h)(orwB

Some cherry. (banana)s mango. All mango is blueberry. e M:S&Vf)
ango is blueberry( N b ueberry is cherry. On?y a few cherry is banana.
@ Only a ew mango is chespy. Only a few cherry is banana. No banana is blueberry. ><
Df?‘ ’“\

-’( ’\'H"}ﬁc —
Column II: @ T COV\A‘MM No ¥No =
Some blueberry can be cherry. \Some mango Is cheery. l

@Ng@usfblueberry All banana can be mango.
. No blueberry ishanana. Some cherry is mango. —S
‘9( 2-6,2-5and1-4 |
3 6and1-6

2-6,1-5and1-4
5 2-sE=SlndG=4]2

E. None of these
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5. WAOBTHchd%I $O L AR El
6. WAO%I WLEH‘%T%

A.3-6,1-5and1-4
B.1-4,3—-4and1-6
C.1-6,2-5and3-4
D.3-4,3-6and2-6
E. None of these



In the given question, two columns are given that column | has three sets of statements while column Il has three
sets of conclusions. You have to assume the given statement to be true even if they seem to be at variance from
commonly known facts. Match the conclusions 4, 5, 6 which will logically follow the statement 1, 2 and 3

disregarding the commonly known facts.
A statement is said to be followed if both the conclusions given against the statement 4, 5 and 6 are true

according to the 2 and 3. N wZ

golumn I: Some L g &

1 AllLis ‘LIS No;?5|sE)Q /C; q) gﬁ""e',' WA
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(3-5)

ﬁ inx Ais E. Some Aj30.0OnlyafewOis L.

Column ll:

4. NoEisL.SomeOisA. —
Some A can be be O. Some Lis not A.

6. Som eAlsO SomeLlsnotE/

A—2
$3-61-5and1-2
%1 4,3-4and1-6

—~6)2-5and3-4="
)S.\?, 4,3-6and2-6
E. None of these
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